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Advantages of doing warps in SPH

No preferred directions: Discs would align with the mesh in grid codes

No need to worry about boundary conditions

Excellent conservation properties

Galilean invariance: solution unaffected by adding a large mean velocity

Automatic adaption for free: Higher resolution where there’s more mass
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Reproducible with SPH?
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Reproducible with SPH?

N=5x%x10°
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What causes the precession?

Linear theory equations: Lubow & Ogilvie 2000
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Reproducible in 1D? Non-linear interaction”



Take Home Messages

* We miss things if we don't try the same problem with different codes

» Effective viscosity floor is probably at the alpha~0.01 level




